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%66 | 0 | B | MEH | BE | HY 79 | 10 | % | om | BE | HY
36767 10 8 BET BE HY 36797 |10k | B Mg BE HY
w768 | 10 | B | EEm | BE | BHY 679 | 80 | B | RwH | kHE| HY
36769 20 8 P BE 36799 20 28 Kt BE
36770 20 8 HMEH BE 36800 30 8 R BE HY
36771 10 8 HMEH BE 36801 30 z R EEHT BE
36772 60 8 HMEH BE 36802 20 8 amth hEE
778 | 0 | B | EEm | BE | HY 603 | 40 | B | Rwm | ®E | HY
36774 20 T HMEH BE 36804 40 = Kt TL HY
36775 20 8 BET BE HY 36805 20 28 Kt BE HY
36776 20 8 BET TL HY 36806 90 8 pNul) BE HY
777 | 0 | B | EPEm | BE | HY 607 | 40 | B | mum | wEs
36778 10 8 BET BE HY 36808 40 8 FRiR™ BE HY
36779 40 8 EiRRETH BAE 36809 40 8 1)) hEE HY
36780 70 8 BiE™ BE 36810 10 28 3]y hEE HY
36781 60 8 BiE™ BE HY 36811 10 28 3]y hEE HY
36782 |10k | B BiE™ Tl 36812 20 8 fEiR™ BE HY
36783 50 8 FRHM BAE 36813 60 8 AAT hEE
36784 20 8 EBHM BE HY 36814 40 8 =Ll BAE
36785 50 8 FRHM BAE 36815 10 28 hEM BE
36786 30 8 FRHM BAE 36816 30 8 KIAHET BAE
36787 50 8 EBHM BE HY 36817 30 = hEM BE HY
36788 20 8 E=4=Fia1] BE HY 36818 20 8 hEM BE
36789 40 8 FRHM TL HY 36819 20 8 EEm BE
36790 50 8 FRHM TL HY 36820 50 = hEM BE HY
36791 50 8 FRHM TL HY 36821 20 8 i) BE
6792 |10k B | #E#H | BL | BHY 22 | 10 | % | sES | mL | HY
36793 50 8 EBHM BE HY 36823 40 8 BiTRT TL HY
36794 60 8 N BE HY 36824 50 8 BiTRT BE HY
36795 30 8 N BE HY 36825 30 8 KIAHET BE HY
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36826 10 8 wEm TL HY 36856 20 8 N & BAE

36827 40 5 HhEM BE HY 36857 20 8 miET BE

36828 10 8 2B TL HY 36858 20 = miET BE HY
36829 20 8 2B TL HY 36859 20 8 Ty BE

36830 30 8 wEm TL HY 36860 50 = Ty BE HY
36831 50 8 hEM BE HY 36861 30 8 A& LT BAE

36832 90 8 hEM hEE HY 36862 30 = Ty BE HY
36833 30 8 wEm TL HY 36863 20 28 £/ BE

36834 30 T KIAHET BE HY 36864 90 z Ty hEE

36835 | 10KiE| 5 KIBHT TL HY 36865 10 8 £@Em BE HY
36836 50 8 KIAHET BE HY 36866 80 8 N3 BE HY
36837 30 8 hEM BE 36867 20 8 Ty BE

36838 50 8 HHET BAE 36868 20 8 N & BE HY
36839 50 8 HHET BAE 36869 20 = Ty BE HY
36840 80 8 BRFET BE HY 36870 20 = Ty BE HY
36841 90 5 BRUHHT BE HY 36871 50 28 il BE HY
36842 70 8 BRI ET BE HY 36872 50 8 =R BE HY
36843 80 8 BRI ET BE HY 36873 30 8 BmEM BE

36844 80 8 BRFET BE HY 36874 70 28 BEM TL HY
36845 20 8 BRFET BE HY 36875 50 8 BEM TL HY
36846 40 5 Rigm BE HY 36876 30 8 BmEM BE HY
36847 10 8 R BE HY 36877 10 = BmEM 7L HY
36848 50 8 Rigm TL HY 36878 10 = BmEM BE HY
36849 50 8 KFFh BE HY 36879 |10k | X BmEM TL HY
36850 20 8 FIES ) BE HY 36880 30 28 BmEM BE HY
36851 20 8 A& LT BE HY 36881 |10k | = BmEM BE HY
36852 10 8 A& LT BE HY 36882 40 8 BEM TL HY
36853 10 8 Ty BE HY 36883 20 = BmEM BE HY
36854 40 8 Ty BE HY 36884 10K | % BmEM BE HY
36855 60 8 Ty hEE HY 36885 |10k | = BmEM TL HY
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36886 | 10kKiE| 5 BEM TL HY
36887 20 8 BEM TL HY
36888 40 5 BEM BE HY
36889 20 5 BEM BE HY
36890 20 8 2h BE

36891 30 8 2h BE

36892 20 8 2h BE HY
36893 20 8 2h BE

36894 40 8 2h BE HY
36895 10 8 2 BE HY
36896 10 8 2 BE HY
36897 80 8 2 TL HY
36898 40 8 AR TL HY
36899 20 8 HIE BE

36900 20 8 HERT BE HY




